ORG7207AY, Junglebane - plateau m rullebom

Date: 20221111 Subject: Viewl
Rev: 20221111 Drawing no.: MNT7003
Page nr.: 1/4  Scale: None

Paper: A4 Drawing by:  Jan Routh Sgrensen

O,

T
<60cm |FH

Areal 27m?
Circumference 20m

Mounting

Copyright Elverdal A/S.

O
EN 1176

Elverdal

INFO

VIGTIGT: Hele anlagget skal samles far der stgbes beton

IMPORTANT: The entire facility must be assembled before mould in concrete
WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird




ORG7207AY, Junglebane - plateau m rullebom

Date: 20221111  Subject: Front I
Rev: 20221111  Drawing no: MNT7003 MO untin g E I Ve r CI a I

Page nr.: 1/4  Scale: 1:25 Copyright Elverdal A/S.
Paper: A4 Drawing by:  Jan Routh Sgrensen

A D42

o
o
S /D_28 D45b ot — 930,
~N
7 o4 [cco o || H—
o
(@)
0 S - 2265 _
I B | D
A A
Y i
o
LN
N
o
LN
m
Y
+=200 . 2540 B 1005

INFO

(®)
VIGTIGT: Hele anlagget skal samles far der stgbes beton

— W EN 1176 IMPORTANT: The entire facility must be assembled before mould in concrete
<60cm |FH : WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament

Areal 27m? betoniert wird

Circumference 20m




ORG7207AY, Junglebane - plateau m rullebom

Date: 20221111  Subject: Foundation plan
Rev: 20221111 Drawing no.: MNT7003
Page nr.: 1/4  Scale: 1:50
Paper: A4 Drawing by:  Jan Routh Sgrensen

Mounting

Copyright Elverdal A/S.

Elverdal

- 7700 -
'\
R1575.00
R1575.00 /g:\ [;;\
\ g A
(@) o
— (Yo}
m —
< —
\ Y
\ ¥
2540 .-
Y

Areal 27m?
Circumference 20m

INFO

VIGTIGT: Hele anlagget skal samles far der stgbes beton
IMPORTANT: The entire facility must be assembled before mould in concrete

WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird




ORG7207AY, Junglebane - plateau m rullebom

Date: 20221111
Rev: 20221111
Page nr.: 1/4
Paper: AL

Junglebane - plateau m rullebom

Subject:
Drawing no.:

Drawing by:

Obstacle course - platform w rolling balancing beam

Viewl
MNT7003

None

Jan Routh Sgrensen

Mounting

Copyright Elverdal A/S.

Dschungelspielplatz - Plateau Robinie m Drehbalken

Elverdal

Antal/
Quantity/
Betegnelse: Name: Bezeichnung: Anzahl:  Artikel/ltem#
Robiniestamme 2350mm Robinia pole 2350mm Robinie Pfahl 2350mm 4
Robiniestamme 1300mm Robinia pole 1300mm Robinie Pfahl 1300mm 2
Trekant plateaue Triangel platform Dreiechig plateau 2
Reb Rope Seil 2
Sjeekel Shackle Schakel 4| ELV93000018
M12x90 Bolt M12x90 bolt M12x90 bolzen 4| ELV01012090
M12 Selvlasende matrik M12 lock nut M12 Sicherungsmuttern 4| ELV90120000
M12 Skive M12 washer M12 Scheibe 4| ELV95130025
M16x220 Bolt M126x220 bolt M126x220 bolzen 6| ELV01160220
M16 Lasematrik M16 lock nut M16 Sicherungsmuttern 6| ELV90160000
M16 Skive M16 washer M16 Scheibe 12| ELV95160030
Dubsko @42 Plug-in gliders Steckqleiter 16| ELV97440000
Rulle med rullebeslag Balancing beam w bracket [Drehbalken m Beschlage 1
Afstandsbgsning 840x40 Spacer @40x40 Abstandhalter @40x40 6| ELV75000013
Monteringsvejledning Mounting instruction Installationsanleitung 1 MNT7003
D42 D45b D28
s sz Sklveb HVI12x120 mm
elviasende_g ’V m16 skive©
M12 meatrik s H
Dubskog H d )

@Nylonbgsning monteres i gjebolt

Dubsko

=
=

30mm
— @ M16 Skive

/\~— M16 Selvliasende meatrik

| ) E=3 puvsko
. )

_

o218

J40x40 (OI)

M16x220 B

Areal 27m?
Circumference 20m

INFO

VIGTIGT: Hele anlagget skal samles far der stgbes beton

IMPORTANT: The entire facility must be assembled before mould in concrete
WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird





